

Fulton County Marshal's Department 2018 ANNUAL REPORT



ENERGY COUNT







Our Core Values

The foundation of our organization consists of eight star values.



★ COURAGE
★ HONESTY
★ JUSTICE
★ CHARACTER

- **★** KNOWLEDGE
- \star Loyalty
- ★ Service
- \star Integrity



2018 FCMD Annual Report | 2

Table of Contents

Message from the Marshal2
Organization Chart3
Mission Statement4
2018 Cadet Program5
Reports
Community Outreach
Junior Deputy Program 10-11
G.R.E.A.T. Program 12
Student Intern Program 13
Personnel 14
Retirement
Training 17
Physical Fitness and Wellness
Awards & Recognitions
Sworn Personnel 20-21
Recruitment
Commitment 23
Men & Women of the Marshal's Department 24-25
2018 FCMD Annual

Report | 1



Message from the Marshal

Troops,

We did it! We achieved our 2018 goals. Thanks to each of you, we exceeded the expectations set forth by the Department. Our first accomplishment was attained by receiving an outstanding audit report from the Georgia Bureau of Investigation for being in compliance with the maintenance of warrants that are housed on our GCIC/ NCIC Warrant System. Next, we not only were reaccredited by the Commission on Accreditation for Law Enforcement Agencies for the 8th time, but surpassed it with receiving the Gold Standard with Excellence during the assessment. Finally, our vision of someday equipping our troops with Body Worn Cameras has become a reality.

With the start of a new year, I continue to appreciate your noble dedication to service the citizens of Fulton County. I am also grateful to you for allowing me to lead for the past eleven years and pray that as we embark on this final year of this term it will continue to be safe for all.



Marshal Antonio R. Johnson



SOUTH BUREAU MAJ R. BURGESS (IA PROPERTY EVICTIONS / SOUTH CIVIL DIVISION ASSETS WARRANTS CPT. D. ORANGE (PIO) CPT. O. HINTON . DUDLEY-STONE TAC/CJIS EVICTIONS WARRANT LIEUTENANT SUPERVISOR DIVISION DIVISION P. BROWN LT. D. DAVIS F.M.-HARRELL LT. Q. HILL (PIO) GCIC OPERATOR SERGEANT SERGEANT SERGEANT E. BOOSE J. HAM C. WILSON D. THOMAS E. FORBES T. HOLLOWAY CORPORAL CORPORAL CORPORAL T. RANDAL 6. MCCULLOUGH P. SPADUZZI J. LITTLE (USMS S. WALKER D. SHIVERS D. STALLWORTH SERFTF) L. BASS D. SILER D. RUTLEDGE DEPUTY B. WILLIS DEPUTY J. BROOKS T. CLARK DEPUTY R. GUERRIER D. BRUTLEY T. HEARD C. LOCKWOOD D. SCOTT SEALS-JOHNSON A. WHITE

Fulton County Marshal's Department Organization Chart



Mission Statement

The mission of the Marshal's Department is to preserve the peace, protect lives and to serve the public by enforcing orders, writs and precepts of the State and Magistrate Courts of Fulton County, and other courts of competent judicial authority, in a responsible, efficient and cost effective manner.





Marshal A.R. Johnson Chief of Staff M. Burke





Major N. Mulcare



Major R.Burgess



Commission on Accreditation for Law Enforcement Agencies -Achieved 8th Assessment with Gold Standard with Excellence



2018 Cadet Program



Reports

Fulton County Marshal's Department 2018 Quarterly Performance

CIVIL PROCESS	1st QTR	2nd QTR	3rd QTR	4th QTR	TOTALS	SERVICE FEE	Total REVENUE
Service Attempts	2315	2334	2579	2338	9566	Included	
Lawsuits	1564	1798	1818	1630	6810	50.00	340,500
Garnishments	505	474	420	468	1867	13.00	24,271
Better Address	1698	2026	2053	1807	7584	50.00	379,200
Subpoenas	19	27	35	8	89	10.00	890
Nulla Bona	517	361	455	580	1913	10.00	19,130
2nd Originals	207	203	173	165	748	50.00	37,400
Miscellaneous Civil	14	1	0	0	15	Included	
	6839	7224	7533	6996	28592		801,391
*Miscellaneous incl FIFA, Levies, TO							

							Total
EVICTIONS	1st QTR	2nd QTR	3rd QTR	4th QTR	TOTALS	SERVICE FEE	REVENUE
Dispossessory Proceedings	1755	1690	1826	1415	6686	35.00	234,010
Writs Evicted	1421	1356	1582	1209	5568	75.00	417,600
Writs Settled	2112	1483	1812	1776	7183	75.00	538,725
	5288	4529	5220	4400	19437		1,190,335

Total Revenue 1,991,726

CRIMINAL WARRANTS	1st QTR	2nd QTR	3rd QTR	4th QTR	TOTALS	
Service Attempts	26	32	27	21	106	
New Warrants	185	191	222	197	795	
Arrests Made	31	48	38	26	143	
Warrants Served	41	44	56	52	193	
Transport/Pick-UP	45	37	61	51	194	
GCIC Entries	3093	3021	2211	2598	10923	
Odyssey Updates	2337	1179	991	823	5330	
Better Address	59	85	35	46	225	
	5817	4637	3641	3814	17909	
*Miscellaneous incl LEDS /sheets, Incident Report						

COURT SECURITY	1st QTR	2nd QTR	3rd QTR	4th QTR	TOTALS
Cases Secured	10561	9915	10683	8601	39760
Inmates	0	0	0	0	0
DUI Court Home visits	285	257	241	213	996

PATROL ENFORCEMENT	1st QTR	2nd QTR	3rd QTR	4th QTR	TOTALS
UTC Citations	1	10	7	10	28
UTC Warnings	0	0	1	0	1
911 Calls	41	34	28	25	128













Giving Back to the Community

★ Martin Luther King Jr. Day ★ National Night Out 2018 ★ South Fulton Fall Festival ★ Annual Shop With A Cop ★ Holiday Adopt A Family







Junior Deputy Program



Sgt. M. Hadley



Cpl. D. Stallworth



During the week the program participants toured the Fulton County Courthouse, the 911 Communications Call Center, the Juvenile Courthouse Detention Facility and the Fulton County Jail. They learned CPR, took a course on Emergency Management Preparedness, Defensive Tactics, Crisis Intervention, crime scene investigations, courtroom procedures and the G.R.E.A.T Program. The participants were able to ride along on the Emergency Vehicle Operators Course which is a timed course at the Fulton County Public Safety Training Center that demonstrates skid recovery, braking exercises, parallel parking, safe backing exercises and controlled intersections.



Eric Johnson Aman Hadley

Junior Deputy Class 2018 Caleb Humphries Akilah Lattimore Sandtori Solomon Demetrius Solomon Marquis Parker Jr Joseph Jones





Zaki Roshell

G.R.E.A.T. Program (Gang Resistance Education and Training)



The goal of the G.R.E.A.T. Program is to help youth avoid gang membership, prevent violence and criminal activity, and develop a positive relationship with law enforcement. This program provides a school-based program that includes classroom instruction and various learning activities conducted by sworn/certified criminal justice professions.

The program is intended as a deterrent against delinquency, youth violence, and gang membership for children who are near the prime age for introduction to gangs and delinquent behavior. The G.R.E.A.T. curriculum has been delivered to more than 6 million children by trained and certified officers around the United States.

Sergeant C. Wilson

Sergeant Wilson continues to do a great job with the children at Asa G. Hilliard Elementary School, located in East Point.



Student Intern Program

The Student Internship Program is designed to provide college students with an opportunity to learn about the Georgia Criminal Justice System through observation of courtroom proceedings, field operations and administrative functions. When students complete the Internship Program it is our desire that they are able to satisfy their college internship requirements, gain a better understanding of the criminal justice system and possibly interest them in law enforcement careers.



Cumberland Christian Academy Senior

Our 2018 interns were:



Julian E. Walker Florida Agricultural and Mechanical University Freshman





Promotion New Civilian Personnel



Deputy T. Kanu Promoted to Corporal



Service Years ______ 20 Yea



Elsie Dixon



Cpt. D. Orange

Lt. K. Buck



Lt. P. Davis



LuCinda Dyer-McGarrah



Mrs. Delores Martin In recognition of her years of dedication and support to the Marshal's Department mission

2018 FCMD Annual Report | 14

Retirement

Retirement



Corporal Brian E. James 21 years of dedicated service to the citizens of Fulton County and the Marshal's Department

2018 FCMD Annual Report | 16

Training



Sergeant A. Moore Training Instructor

2018 Training Hours for Sworn Employees								
Employees	s Firearms Deadly Force De-Escalation Community Policing General Training							
58	568	68	68	134	7204			

The Marshal's Department is committed to providing a professional and knowledgeable workforce to meet the needs of the citizens of Fulton County and our public safety partners. Having a well-trained staff is a mission critical goal and we take pride in exceeding it each year. The Training Division had the following highlights in 2018:

Training.

• 61 employees, sworn and civilian, completed 360 hours of Physical Fitness

• 6 employees completed Basic Peace Officer Certification Training (T. Clark, D. Harris, L. Martinez, E. Peña, J. Seals-Johnson and J. Williford) • Sworn employees completed 216 hours of TASER Refresher Training

• Sworn employees completed 480 hours of Defensive Tactics Training

• 1 new Specialized Instructor in TASER Training

Physical Fitness and Wellness

The Physical Fitness Program started in 2008 as a volunteer program offered to sworn deputies and civilian staff. The program is now mandatory for sworn and still voluntary for the civilian staff. The focus continues to recognize the need to be physically fit to perform our day-to-day duties, also introduce new challenges to improve our overall health.



Awards & Recognitions



2018 FCMD Annual Report | 18



2018 FCMD Annual Report | 20







Sworn Personnel







Recruitment

Fulton County Marshal's Department participated in the campus career days at ★ Valdosta State University ★ University of North Georgia





Commitment

Departmental Functions

★ Civil Process Magistrate Criminal Warrants
 Enforcement of Dispossessory Actions
 Writs of Possession and Writs of Fieri Facias (FIFA) **★** Court Security ★ Marshal Sales



Men & Women of the Marshal's Department



2018 FCMD Annual Report | 24











Fulton County Marshal's Department

160 Pryor Street S.W., Suite J 102 | Atlanta, Georgia 30303 www.fultoncountymarshal.com Email: fcmarshal@fultoncountyga.gov Main line: 404-612-4451 Fax: 404-893-6565





